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Definition of a Horizontal Asymptote:

{dﬂm b
qif@)lb

thenthereisaHAaty=Db

Find the horizontal asymptotes: L\
109=2 S—ET\¥7/4 N
WA\ S\LQ =
£~ LT |
Vit +1
Vs : K‘<\ — \
x= °°

\‘N\SLK\ = 0O

N T




section 2.2.notebook

"= (L)

C . \.’N\Q(b =

> eQ

L e $G) =y

> ~o9

September 04, 2014




section 2.2.notebook

September 04, 2014

Estimate: (remember this includes both the left and right hand limits!)
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Definition of a Vertical Asymptote:
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Find the vertical asymptotes: I
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End Behavior Models:
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model for f(x):
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Graph f(x) using the following

[15,15] [-20,10]

[-1500, 1500] [-2000,1000]

what is an end-behavior
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Find the end behavior models:
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